THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES (DEGREE PROGRAMI\’IE)
LEVE 05

ASSIGNMENT TEST - AUGUST 2009

MCU 3207 -MANAGERIAL ECONOMICS

DURATION: TWO (02) HOURS

Date: 15" August 2009 L Time : 2.00 p.m — 4.00 p.m

Answer Part A and any two questions (02) from Part B.
Non programumable calculator is allowed,

(1) a) i) Consider the price quaﬁfify relationship of good ‘X’ given below.
Pric.e (Rs.) - Quantity Demand.ed (Units)
48/="" o 12,000

60/= 10,800
If the relationship is linear, find the demand functlon of good X.

i) If supply function of good X is given as,
Q, =-7200+300p
Find the equilibrium price and quantity,

(6 Marks)
by i) What is the law of Demand ?
i) “Price, quantity relationship of some of the goods does not confirm
the law of Demand” Do you agree? Explain with examples.
(5 Marks)
c) A market consists of three individuals. Their demand equations are;
0,=24-3p
Q,=36~-4p
0.=54-3p

(1) What is the market demand equation?
(ii)  Ataprice of Rs. 4/=, what is the Price Elast1c1ty for each person and
for the market?

(6 Marks)
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Price elasticity of demand for goods x, y, z given as

good X - Ey>1-
goodY - Ey<1
goodZ - E,=1 -

If the price of each good is increased by 1%, how will this affect the tota]
revenue from each product? S
_ (6 Marks)
1) Define Substitution and Income effects with examples,
(i)  How will the Substitution and Income effects change in relation to
~ Normal, Inferior and Giffen Goods?
(6 Marks)

i) | Briefly explain the following with examples.
Explicit Cost
Implicit Cost

ﬁ) How can a firm calculate Business profit and Economic profit?
(6 marks)

“In achieving objective of a firm, it has to operate under various constrains”
Explain.
(5 marks)

(Total ~ 40)
PART - B

“The knowledge of Managerial Economics helps a manager to demonstrate,
how application of Economic Theory can improve decision making in a .
firm”. Discuss with examples. :

_ o (30 marks)
a) Briefly explain the following
(1) The Law of Diminshing Returns. = :
(i)  The Marginal Revenue Product of Labour(MRPL)
(i)  Optimum Expansion Path = - -
Use illustrations where possible.

(18 marks)
b) “In the Short Run there is a limit that the firm can increase its
‘production”. Do you agree? Explain using illustrations. o
- (12 marks)
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b)
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The total cost function of a firm given as;

- IC=

(@)

(i)

(iif)
(iv)

(©

(i)

(i)

2800 -60% +0.2¢¢°

Determine the Average Cost functions and the rate of output
that will minimize Average Cost.

Determine the Marginal Cost function and the rate of output
that will minimize Marginal Cost.

Prove that at the lowest point of Average Cost curve, MC = AC
Is this a short or long run cost function? Give reasons.
{16 marks)

What is Break-Even Analysis?
Explain using illustrations. {5 marks)

Consider the following details at a firm that produces good ‘x’

Fixed Cost = Rs. 48,000/=
Price per unit of X = Rs. 36/=
The variable cost per unit = Rs. 16/=

Calculate the break even output of the firm,
What is the total revenue at this rate of out put?

(5 marks)
If the price of a unit drops to Rs. 28/=,
Calculate the break even out put.
What is the impact of this on the firm’s total revenue?

{4 marks)
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